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X

Function03 Answers for No.10044

Ansl

gray
blue
green
yellow
black

(-infinity,infinity

Ans6 = [

(- 1nf1n1ty,
(9
(9
Max1mum
max = 0

)
)
0)
0)

1=[P(x)=(100-0.6
.2=[83.33,4167]

—infinity,infinity

-infinity,infinity

-infinity,infinity

AreaS(x) =x

reaR=x(x+7)
3=30
4=12

_[AS:9}
“ AR =30

) ) | )

(-1,infinity) | (-1,infinity) | (-infinity,49)
(-6,0), (-4,0) | (-1,0), (1,0) | (=7,0),(7,0)
(=5,-1) | (0, -1) | (0, 49)
Minimum | Minimum | Maximum

min = -1 | min = -1 | max = 49

o
A

0] .1 =[Income(x) = (4000 + 200 x) (70 — x)]
}, Ans7 = 2= {7600, 10400 } , Ans8 =

.3=19000, 405000 ] S

[Page

= 0001]

=[f(x)=7x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXKKXKKXKKXKKXXKXKKXKKX KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00002XX

Function03 Answers for No.10127

Ansl

(-infinity,infinity)
(=9,infinity)
(2,0),(8,0)

(5,-9)

Minimum

min = -9

(-infinity,infinity)
(-infinity, 0O

(5,0

(5,0
Maximum
max = 0

)
)
)

X [Page

.1 > black

.2 > blue

.3 > yellow

.4 > gray

.5 > green

.6 > red
| 2 | 3
| (-infinity,infinity) | (-infinity,infinity)
| (=49,infinity) | (-infinity, 4)
| (_610)1(810) I (_110)/(310)
| (1,-49) | (1,4)
| Minimum | Maximum
| min = -49 | max = 4
Am6:{1 [P(x) = (400 ij)ﬂ} s

.2 =[400.00, 80000 ]

= 0002]

2= {13500, 52500}
.3=[33000, 2178000]

.1 =[Income(x) = (6000 + 500 x) (120 — x)]

, AnsS =

AreaS(x) = X

' :[AreaR:x(x+9)

3=10
A4=7

5_[AS:9}
’ AR =36

O=[f(x)=9x]
):0:9:0:9:0:9:0:9:9:9.:0:9:9:9:0:9.9:9.9:9.9:9.0:9.9:9:0:9.9:9.0:9.0:9:0:9.0:9:0:9.0:9:0:9.0:9:0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9:0:9.0:9.0:9.0:9.0:9.0:9.9:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:¢

}_
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Function03 Answers for No.10305

Ansl .1 > gray
.2 > black
.3 > red
.4 > yellow
.5 > green
.6 > blue
ans |2 3. sy
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (-4, 1nf1n1ty) | (-infinity,16) | (-1,infinity) |
.4 (8,0) | (=7,0), (=3,0) | (-6,0),(2,0) | (=5,0), (=3,0) |
5 | (8,0) | (- 5 -4) | (-2,16) | (-4,-1) |
6 | Minlmum | Minimum | Maximum | Minimum |
7| min = 0 | min = -4 | max = 16 | min = -1 |
| ] :[ AreaS(x) =x }_
' AreaR =x (x+9)
.1 =[Income(x) = (4000 + 200 x) (120 — x)] 3=90
A =[P =(300-0.3
Ans6:[ [2_(?500(00 75000’]“))‘]}, Ans7 = 2 = {7200, 20800} , AnsS = 4=4
B o 3 =114000, 980000 ] 5 [AS: 169}
"~ AR =286
L 6=[f(x)=9x]

)G BT ISHE RN IUIUCH I 9:9:9.0:9.0.0.0.0.9:9.9.9.9.0:0:0:0:0:9:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.0.0.9.0.0.0.4
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Function03 Answers for No.10491

Ansl .1 > green
.2 > gray
.3 > red
.4 > yellow
.5 > black
.6 > blue
ans | 2 3 4 s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (0, 1nf1n1ty) | (=9,infinity) | (-1,infinity) |
.4 (0,0), (6,0) | (=7,0) | (=2,0),(4,0) | (=6,0), (=4,0) |
.5 | (3,9) | (=7,0) | (1,-9) | (=5,-1) |
.6 Max1mum | Mlnlmum | Minimum | Minimum |
LT max = 9 | min = 0 | min = -9 | min = -1 |
I ] :{ AreaS(x) =x ]
' AreaR =x (x+5)
.1 =[Income(x) = (6000 +300x) (70 —x)] 3=14
A =[P(x)=(300-0.1
Anséz[ 2[_([’“1)500(00 22500;;’6]}, Ans7 = 2= {12300, 14700} , AnsS = 4=10
o B 3=[13500, 607500] 5_[,43: 144}
4R =204
L =[f(x)=5x] ]

G BT ISHE R0 ) D 9:9:9.0:9.0.0.0.0.9:9.9.9.0.0:0:0:0:0:0.0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0.0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0.0:0:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.0.9.0.0.0.0.9.0.0.9.0.0.0.4
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Function03 Answers for No.10782

X

Ansl .1 > red
.2 > blue
.3 > black
.4 > green
.5 > yellow
.6 > gray
ans |2 3. sy
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (0, 1nf1n1ty) | (-infinity,36) | (- 1nf1n1ty, )
.4 (0,0),(2,0) | (-8,0) | (=7,0),(5,0) | (-3,0), ( 0)
.5 | (1,-1) | (-8,0) | (-1,36) | (=1,4) |
.6 Minimum | Mlnlmum | Maximum | Max1mum |
LT min = -1 | min = 0 | max = 36 | max = 4 |
| ] :[ AreaS(x) =x }_
' AreaR=x (x+ 1)
.1 =[Income(x) = (6000 + 200 x) (100 — x)] .3=20
A=[P =(600-0.7
Ans6=[ 2[_(328(57 128571’“]))‘]}, Ans7 = 2= {10200, 15800} . Ans8 = 4=5
o T 3=113000, 845000 ] 5 [ASz 36}
T AR =42
L 6=[fx)=x] |

[Page

= 0005]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXX XXXXXXXXME /2-6800403-00006XX
Function03 Answers for No.11040

Ansl .1 > red
.2 > blue
.3 > yellow
.4 > green
.5 > black
.6 > gray
ans | 2 34 s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-4, 1nf1n1ty) | (- 1nf1n1ty, ) (=36,infinity) | (- 1nf1n1ty, )
.4 (=7,0), (-3,0) | (7,0) | (-8,0), (4,0) | (5,0),(7,0) |
5 | (- 5 -4) | (7,0) 1 (-2,-36) | (6,1) |
6 | Minimum | Max1mum | Minimum | Max1mum |
7| min = -4 | max = 0 | min = -36 | max = 1 |
| ] :[ AreaS(x) =x }_
"~ lAreaR=x(x+38)
.1 =[Income(x) = (5000 + 500 x) (110 — x)] 3=153
A=[P =(500-0.1
Ans6:[ 2[_(["2)500(00 625008)6]}’ Ans7 = 2= {10000, 50000} , Ans8 = 4=11
- Y .3=[30000, 1800000 ] 5_[AS:81}
" LAR =153
L 6=[f(x)=8x]

)G BT ISHE RNV I 9:9:9.0:9.0.0.0.0.9:9.9.9.0.0:0:0:9:0:0:9:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.9.0.9.0.0.04
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Function03 Answers
Ansl > gree

yell
blue
red

for No.11048
n

gray

ow

(-infinity,infinity
(_491

2|
.3
.4 (-
5 |
6 |
7

)
infinity)
8,0),(6,0)

(-1,-49)
Minimum
min = -49

(-infinity,infinity

(- 1nf1n1ty,
(-4,0), (
(-

Max1mum

max = 9

)
)
0)
9)

-infinity,infinity

)

(- 1nf1n1ty, )
(-9,0)

(-9,0)
Max1mum

max = 0

-infinity,infinity
(- 1nf1n1ty,
(-6,0), (
(-
Max1mum
max = 9

)
)
0)
9)

= [P(x)=(300-0.2x)x]

v
Ans6—[ oo

X [Page = 0007]

[750.00, 112500 ]

}, Ans7 =

2= {7200, 28300}

.3 =[18000, 1080000 ]

.1 =[Income(x) = (3000 + 300 x) (110 — x)]

| ] :[ AreaS(x) =x
' A

reaR=x(x+9)
3=10

, Ans8 = 4=8
5:[AS=64}
) AR =136
L 6=[f(x)=9x]

}_

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢
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X

Function03 Answers for No.11107

Ansl

blue
yellow
green
black
red

(-infinity,infinity

(- 1nf1n1ty,
(4,0), (6
(5

Max1mum

max = 1

)
)
0)
1)

(-infinity,infinity

(- 1nf1n1ty,
(9
(9

Max1mum

max = 0

)
)
0)
0)

-infinity,infinity

)
(-infinity, 36)
(_51 O) 7 (7/ O)
(1,36)

Maximum

max = 36

-infinity,infinity

(=4,infinity
(-2,0), (2

(0, —4

Minimum

min = -4

)
)
0)
)

[Page

Ans6 = [

= 0008]

2=[428.57,128571]

1=[P(x)=(600-0.7x)x]

}, Ans7 =

2= {14500, 31500 }

.3=[23000, 1058000 ]

.1 =[Income(x) = (6000 + 500 x) (80 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+2)
3=3
4=10

_[AS=36}
“LAR =48

=[f(x)=2x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_
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Function03 Answers for No.11419
Ansl > red
gray
blue
black
yellow

—-infinity,infinity

—infinity,infinity

-infinity,infinity

-infinity,infinity

) ) ) )
(-1,infinity) (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-36,infinity) |
(4,0),(6,0) (-5,0) (-5,0), ( 0) (-9,0),(3,0) |
(5,-1) (-5,0) (-2,9) (-3,-36) |
Minimum Max1mum Max1mum Minimum |
min = -1 max = 0 max = 9 min = -36 |
_]:[ AreaS(x):x2 }_
"~ lAreaR=x(x+9)
.1 =[Income(x) = (7000 + 500 x) (130 —x)] .3=70
A =[P =(700-04
Ans6:[ 2[_(?275(00 306250)6]))6]}, Ans7 = 2=1{13500, 58500 } , Ans8 = 4=9
o o .3 =1[36000, 2592000 ] 5_[,43:49}
AR =112
L 6=[f(x)=9x] i

)G BT ISHE RSN D 9:9:9.0:9.0.0.9.0.9.0.9.9.9.0:0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.0.0.9.0.0.0:4
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X

Function03 Answers for No.11424

Ansl

> gray
blue
red
yellow
black

-infinity,infinity)
(-1,infinity)
(1,0),(3,0)

(21_1)

Minimum

min = -1

—infinity,infinity
(- 1nf1n1ty,
(2
(2
Max1mum
max = 0

)
)
0)
0)

-infinity,infinity

(-4,infinity
(3,0), (7

(5, —4

Minimum

min = -4

)
)
0)
)

-infinity,infinity
(- 1nf1n1ty,
(4,0), (8
(6
Max1mum
max = 4

)
)
0)
4)

Ans6 = [

[Page =

0010]

1=[P(x)=(200-0.1x)x]
.2=[1000.00, 100000 ]

}, Ans7 =

2= {8100, 24900 }

.3=[16500, 907500]

.1 =[Income(x) = (3000 + 300 x) (100 — x)]

o

J

, Ans8 =

AreaS(x) =x
reaR=x(x+11)
3=126
4=28

_[ASz 100}
“L4AR =210

=[f(x)=11x]
O0:0:0:010:010:0:0:0:0.0.0:0.0:0:0:0:0:0:0.0:0.0.0.0:0:00:0.0:0.0:0.0.:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0.0:0.0:0.0:0.0.0:0:0.0:0:0.0:0.0.0.0:0.0:0:0:0:0.0:0.0.0.0.0.0:0.0:0:0.0:0.0.0.0.0:0:0:0'0'¢

}_
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Function03 Answers for No.11470

Ansl .1 > gray
.2 > yellow
.3 > black
.4 > red
.5 > blue
.6 > green
ans | 2 3 4 s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=4,infinity) | (-16,infinity) | (- 1nf1n1ty, ) (0, 1nf1n1ty) |
.4 (3,0),(7,0) | (1,0),(9,0) | (-2,0), (4,0) | (5,0) |
.5 | (5, -4) | (5,-16) | (1,9) | (5,0) |
.6 Minimum | Minimum | Max1mum | Minlmum |
LT min = -4 | min = -16 | max = 9 | min = 0 |
| ] :[ AreaS(x) =x }_
' AreaR =x (x+9)
.1 =[Income(x) = (4000 + 200 x) (120 — x)] 3=10
A =[P(x)=(400-0.7
Ans6:[ [2_(?285(71 57143’]“))‘]}, Ans7 = 2 = {7600, 20400 } , AnsS = 4=10
- et h 3 =[14000, 980000 ] s [AS = 100}
7 LA4R =190
L 6=[f(x)=9x] i

X [Page = 0011] XXXXXXXXXXXXXKXXXXXXKXXKXKKKKKKKXKKKXKXXXXXXXXXXXXXXXXXXXXKXKKKKKX KKK KKKKKKKKK KKK KKK XXX XXX KX XXX XXX XKKKKKK
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Function03 Answers for No.11472

Ansl .1 > yellow
.2 > red
.3 > gray
.4 > black
.5 > blue
.6 > green
ans | 2 34 s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (- 1nf1n1ty, ) (-1, 1nf1n1ty) | (=9,infinity) |
.4 (5,0) | (2,0),(6,0) | (=7,0), (=5,0) | (=3,0),(3,0) |
5 | (5,0) 1 (4,4) | (- 6 —1) | (0,-9) |
6 | Minlmum | Max1mum | Minimum | Minimum |
7| min = 0 | max = 4 | min = -1 | min = -9 |
| ] :[ AreaS(x) =x }_
© lAreaR=x(x+17)
.1 =[Income(x) = (4000 + 400 x) (110 —x)] 3=198
=[P(x)=(500-0.3
Ans6=[ 2[_(?533(33 208333"]))‘]}, Ans7 = 2 = {8400, 39600} , Ans8 = 4=6
- T .3 =1[24000, 1440000 ] 5 [AS: 49}
" LAR =98
L 6=[f(x)=7x]

)G BT ISHE RN IN VA I 9:9:9.0.9.0.0.9.0.9.0.9.9.0.0:0:0:0:0:0:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0:0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.9.0.9.0.0.04
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Function03 Answers for No.11523

X

Ansl .1 > blue
.2 > red
.3 > gray
.4 > black
.5 > green
.6 > yellow
ans |2 3. sy
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-36,infinity) | (0, 1nf1n1ty) | (-36,infinity) |
.4 (-2,0), ( 0) | (-8,0),(4,0) | (8,0) | (-4,0),(8,0) |
.5 | (-1,1) | (-2,-36) | (8,0) | (2,-36) |
.6 Max1mum | Minimum | Minlmum | Minimum |
LT max = 1 | min = -36 | min = 0 | min = -36 |
| ] :[ AreaS(x) =x }_
' AreaR =x (x + 6)
.1 =[Income(x) = (4000 + 500 x) (130 — x)] 3=7
A=[P =(300-0.7
Ans6:[ [2_(?214(29 32143’]6”]}, Ans7 = 2= {10000, 59000 } . AnsS = 4=6
B o .3 =1[34500, 2380500 ] 5 [ASz 169}
= LAR =247
L 6=[f(x)=6x]

[Page

= 0013]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢
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Function03 Answers for No.11549

Ansl .1 > gray
.2 > black
.3 > red
.4 > yellow
.5 > blue
.6 > green
ans |2 134 sy
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=9,infinity) | (-infinity,16) | (-1,infinity) | (0, 1nf1n1ty) |
-4 (1,0), (7,0) | (=2,0),(6,0) | (5,0),(7,0) | (6,0) |
S5 | (4,-9) | (2,16) | (6, -1) | (6,0) |
6 | Minimum | Maximum | Minimum | Minlmum |
7| min = -9 | max = 16 | min = -1 | min = 0 |
| /= [ AreaS(x) = X }_
"~ lAreaR =x (x+10)
.1 =[Income(x) = (6000 + 600 x) (80 — x) ] 3=171
A =[P(x)=(300-0.5
Ans6:[ [2_(?300(00 45000’]“))‘]}, Ans7 = 2 = {15000, 39000 } , AnsS = 4=5
I 3 =[27000, 1215000] 5_[AS:64}
" LAR =144
L 6=[f(x)=10x] i

)G BT ISHE RIS I 9:9:9.0.9.0.0.9.0.0:0.9.9.0.0:0:0:0:0:9.0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.0.90.0.0.0.0.9.9.0.9.0.0.04



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXXXXXXXXXXME /2-6800403-00015XX
Function03 Answers for No.11925

Ansl .1 > blue
.2 > gray
.3 > green
.4 > yellow
.5 > black
.6 > red
ans |2 3. sy
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (-infinity,16) | (-1, 1nf1n1ty) | (-64,infinity) |
.4 (=7,0) | (=1,0),(7,0) | (=5,0), (=3,0) | (-8,0),(8,0) |
.5 | (=7,0) | (3,16) | (-4, -1) | (0, —64)
.6 Mlnlmum | Maximum | Minimum | Minimum |
LT min = 0 | max = 16 | min = -1 | min = -64 |
I ] :[ AreaS(x) = }_
© lAreaR=x(x+17)
.1 =[Income(x) = (6000 + 200 x) (130 —x)] 3=170
A =[P =(100-04
Ans6:[ [2(_x[)12§ 00 6250]’“))‘]}, Ans7 = 2 = {8200, 23800} , AnsS = 4=6
- T .3 =[16000, 1280000 ] 5_[AS:81 }
“L4R = 144
L 6=[f(x)=7x]

)G BT ISHE RN VIIN RGN I 9:9:9.9:9.0.0.9.0.9.0.9.9.0.0.0:9:9:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.9.0.0.0.0.0:0.0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0:0.0.0.0.0.0.0.9.0.0.0.0.9.0.0.9.0.0.04



X Math@MUT XXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXKXXXKXXXKXXKKXKKXKKXXKXKKX KKK KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00016XX

Function03 Answers for No.11935

Ansl

> green
gray
blue
black
yellow

| (-infinity,infinity)
| (=36,infinity)
| (_410)1(810)
| (2,-36)

| Minimum
| min = -36

—infinity,infinity

)
(-1,infinity)
(0,0),(2,0)
(11_1)
Minimum

min = -1

-infinity,infinity

)

(- 1nf1n1ty, )
(-8,0), (-2,0)
(-5,9)
Max1mum

max = 9

-infinity,infinity

X [Page

Ans6 = ['1

= 0016]

=[P(x)=(200-0.3 x)x]
2=[333.33,33333]

}, Ans7 =

2= {9200, 26300}

.3=[18000, 810000 ]

.1 =[Income(x) = (4000 + 400 x) (80 — x) ]

) |
(- 1nf1n1ty, ) |
(-9,0) |
(-9,0) |
Max1mum |
max = 0 |
| /= [ AreaS(x) = X
"~ lAdreaR=x(x+11)
.3=80
, AnsS = 4=12

5 [AS=81}
' AR =180
6=[f(x)=11x]
):9:0:0.0:9.9.9.9,9:9:0:0.9.9.9.9.9.9.9:0.:0.9.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9,0:0.0.0.9.9.9.9.9:0.:0.:0.0.0.9.9.9.9:9.0:0.0.9.9.9.9.9.:9.9.:0.:0.0.9.9.9.9.9,9.:0.0.0.9.9.9.9.9.:9:0.0.0.0.9.9.9.9.9:0.0.0.0.0.4

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX XXX XXX XXXXXXXXME /2-6800403-00017XX
Function03 Answers for No.12183

Ansl .1 > red
.2 > yellow
.3 > green
.4 > black
.5 > blue
.6 > gray
ans | 2 34 s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=25,infinity) | (- 1nf1n1ty, ) (- 1nf1n1ty, ) (- 1nf1n1ty, )
.4 (-8,0),(2,0) | (1,0),(7,0) | (3,0) | (-9,0), (=3,0) |
5 | (-3, -25) | (4,9) | (3,0) | (-6,9) |
6 | Minimum | Max1mum | Max1mum | Max1mum |
7 ] min = -25 | max = 9 | max = 0 | max = 9 |
I ] :{ AreaS(x) =x ]
" |dreaR=x(x+17)
.1 =[Income(x) = (6000 + 200 x) (70 —x)] .3=30
A =[P(x)=(100-0.6
Anséz[ [Z(f)[83(33 4167])‘)’6]}, Ans7 = .2 = {8000, 12000} , Ans8 = 4=3
E T L8 3=[10000, 500000] 5_[,43: 169}
T L4r =260
L =[f(x)=7x]

)G BT ISHE RN IIN A D 9:9:9.9:9.0.0.9.0.9.0.9.9.0.0:0:0:9:0:0:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0.0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.0.0.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KXXX XXX XXXXXXXXXXXME /2-6800403-00018XX
Function03 Answers for No.12246

X

Ansl .1 > green
.2 > gray
.3 > black
.4 > red
.5 > yellow
.6 > blue
ans | 2 34 s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-1,infinity) | (- 1nf1n1ty, ) (0, 1nf1n1ty) |
.4 (-9,0), (=7,0) | (=3,0), (-1,0) | (5,0),(7,0) | (7,0) |
.5 | (-8,1) | (-2,-1) | (6,1) | (7,0) |
.6 Max1mum | Minimum | Max1mum | Minlmum |
LT max = 1 | min = -1 | max = 1 | min = 0 |
| ] :[ AreaS(x) =x }_
© lAreaR=x(x+17)
1= [P(x) = (300 — 0.1 ¥) ¥] .1 =[Income(x) = (3000 + 500 x) (110 —x)] 3=44
Ans6 = 2=[1500.00,225000] Ans7 = .2 = {8000, 50000 } , Ans8 = 4=8
B B .3 =1[29000, 1682000 ] 5_[AS:64}
"~ AR =120
L 6=[f(x)=7x]

[Page

= 0018]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXXXXXXXXXXME /2-6800403-00019XX
Function03 Answers for No.12332

X

Ansl .1 > black
.2 > blue
.3 > green
.4 > gray
.5 > yellow
.6 > red
ans |2 3. sy
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) | (-infinity,16) | (-81,infinity) | (=4,infinity) |
.4 (-6,0) | (0,0), (8,0) | (=9,0),(9,0) | (-1,0),(3,0) |
.5 | (-6,0) | (4,16) | (0, —81) | (1, -4) |
.6 Max1mum | Maximum | Minimum | Minimum |
LT max = 0 | max = 16 | min = -81 | min = -4 |
| ] :[ AreaS(x) =x }_
' AreaR =x (x +4)
.1 =[Income(x) = (4000 + 400 x) (110 —x)] 3=96
A =[P =(200-0.6
Ans6:[ [2_(?166(67 16667’]6))‘]}, Ans7 = 2 = {12000, 36000} . AnsS = 4=5
—LIEDL .3 =1[24000, 1440000 ] s [AS = 169}
4R =221
L 6=[f(x)=4x] |

[Page

= 0019]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXKKXKKX KKK KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00020XX

X

Function03 Answers for No.12682

(-infinity,infinity)
(-infinity,16)
(0,0),(8,0)

(4,106)

Maximum

max = 16

(-infinity,infinity)
(-16,infinity)

(_11 O) 7 (7/ O)

(3,-16)

Minimum

min = -16

(-infinity,infinity)
(-infinity, 81)
)

Ansl .1 > red
.2 > gray
.3 > green
.4 > Dblue
.5 > black
.6 > yellow
Ans | 2
.2 | (-infinity,infinity)
.3 (0,infinity)
L4 (6,0)
.5 (6,0)
.6 | Minimum
LT min = 0
Anséz['l [P(x)=(100—-0.3x)x]
2=[166.67, 8333]

[Page =

0020]

}, Ans7 =

2= {13000, 55000}
.3 =[34000, 2312000]

.1 =[Income(x) = (3000 + 500 x) (130 — x)]

|
|
(_910)/(910 I
(0,81) |
Maximum |
max = 81 |
I :{ AreaS(x):x2 ]
"~ |lAdreaR=x(x+11)
.3=210
, Ans8 = 4=17
5_[,43:49}
"~ AR =126
L 6=[f(x)=11x] i

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXXKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00021XX

Function03 Answers for No.13022

Ansl

-infinity,infinity

)
(-infinity,16)
(_31 O) 7 (5/ O)
(1,106)
Maximum

max = 16

-infinity,infinity
(- 1nf1n1ty,
(-
(-
Max1mum
max = 0

)
)
0)
0)

X [Page

.1 > black

.2 > yellow

.3 > green

.4 > red

.5 > blue

.6 > gray
| 2 | 3
| (-infinity,infinity) | (-infinity,infinity)
| (=25,infinity) | (-infinity, 36)
| (=3,0),(7,0) | (-4,0),(8,0)
| (2, -25) | (2,36)
| Minimum | Maximum
| min = -25 | max = 36
Am6:{1 [P(x) = (200 02x)ﬂ} s

2=1[500.00, 50000]

= 0021]

2= {11600, 32400 }

.3=[22000, 1210000 ]

.1 =[Income(x) = (4000 + 400 x) (100 — x)]

, AnsS =

| ] :[ AreaS(x) =x
' A

reaR=x(x+3)
3=4
A4="T

5_[AS:9}
“ 4R =18

6=[f(x)=3x]
O0:0:0:010:010:0:0:0:0.0.0:0.0:0:0:0:0:0:0.0:0.0.0.0:0:00:0.0:0.0:0.0.:0.0.0.0:0:0:0.0.0:0.0.0.0.0.0.0.0.0:0.0:0.0:0.0.0:0:0.0:0:0.0:0.0.0.0:0.0:0:0:0:0.0:0.0.0.0.0.0:0.0:0:0.0:0.0.0.0.0:0:0:0'0'¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXKKXKKXKKXKKXKKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00022XX

X

Function03 Answers for No.13650

Ansl

gray
red
black
yellow

(-infinity,infinity

(- 1nf1n1ty,
(-
(-
Max1mum
max = 0

)
)
0)
0)

(-infinity,infinity

)
(-9,infinity)
(0,0), (6,0)
(31_9)
Minimum

min = -9

-infinity,infinity

(-infinity, 25
(=3,0), (7

(2, 25

Maximum

max = 25

)
)
0)
)

-infinity,infinity
(- 1nf1n1ty,
(-2,0), (2
(0
Max1mum
max = 4

)
)
0)
4)

[Page

Ans6 = [

= 0022]

2=1[500.00, 100000 ]

1=[P(x)=(400—-0.4x)x]

}, Ans7 =

2= {14000, 26000 }
3 =[20000, 800000]

.1 =[Income(x) = (5000 + 500 x) (70 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+6)
3=27
4=8

_[AS=36}
“LAR=T72

=[f(x)=6x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KXXX XXX XXX XXXXXXXXME /2-6800403-00023XX
Function03 Answers for No.13655

Ansl

red

> yellow
blue
green

gray

2 | (-infinity,infinity)
.3 (-infinity,16)
.4 (- )
5
6 |
T

1,0),(7,0
(3,16)
Maximum
max = 16

(-infinity,infinity

)
(-9,infinity)
(0,0), (6,0)
(31_9)
Minimum

min = -9

-infinity,infinity
(0, 1nf1n1ty
(-
(-
Mlnlmum
min = 0

)
)
0)
0)

-infinity,infinity
(- 1nf1n1ty,
(-6,0), (-

(-
Max1mum
max = 1

)
)
0)
1)

= [P(x)=(300-0.2x)x]

v
Ans6—[ oo

X [Page = 0023]

[750.00, 112500 ]

}, Ans7 =

2= {7200, 18800}
3=[13000, 845000]

.1 =[Income(x) = (4000 + 200 x) (110 — x)]

| ] :[ AreaS(x) =x
' A

reaR=x(x+3)
.3=288

, Ans8 = 4=11
5:[145: 100}
) AR =130
L 6=[1f(x)=3x]

}_

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXKXKKXKKXKKXKKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00024XX

Function03 Answers for No.13667

Ansl

-infinity,infinity

)
(-infinity,16)
(_51 O) 7 (3/ O)
(-1,16)
Maximum

max = 16

-infinity,infinity
(0, 1nf1n1ty
(1
(1
Minlmum
min = 0

)
)
0)
0)

X [Page

.1 > gray

.2 > red

.3 > blue

.4 > yellow

.5 > green

.6 > black
| 2 | 3
| (-infinity,infinity) | (-infinity,infinity)
| (-infinity, 25) | (=25,infinity)
| (-4,0), (6,0) | (-2,0),(8,0)
| (1, 25) | (3, —25)
| Maximum | Minimum
| max = 25 | min = -25
Am:[J [P(x) = (200 0.5x)x]}’ s

2 =1200.00, 20000 ]

= 0024]

.2 =1{9600, 26400 }

.3 =[18000, 1080000 ]

.1 =[Income(x) = (3000 + 300 x) (110 — x)]

, AnsS =

| ] :[ AreaS(x) =x
' A

reaR=x(x+4)
3=5
4=9

5_[,43:25}
“ T L4R =45

6=[f(x)=4x]
}010:010:0:0:0:0:0:0.0:0.0.0:0.0:00.0.0.0.0000.00.00.0.0.000.00.00.000000.000000000000000000000000000000000000000000000000000000

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXXKXKKXKKX KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00025XX

X

Function03 Answers for No.13734

Ansl

red
blue
black
yellow

(-infinity,infinity

(- 1nf1n1ty,
(-
(-
Max1mum
max = 0

)
)
0)
0)

(-infinity,infinity

(- 1nf1n1ty,
(40)(
(-

Max1mum

max = 4

)
)
0)
4)

-infinity,infinity

(-infinity, 49
(=7,0), (7

(0, 49

Maximum

max = 49

)
)
0)
)

-infinity,infinity

(=4,infinity
(=3,0), (1

(-1, —4

Minimum

min = -4

)
)
0)
)

[Page

Ans6 = [

= 0025]

2=[833.33,208333]

1=[P(x)=(500-0.3x)x]

}, Ans7 =

2= {12300, 17700}
3 =[15000, 750000]

.1 =[Income(x) = (6000 + 300 x) (80 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+6)
3=55
4=5

_[AS:9}
“LAR =27

=[f(x)=6x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXXX XXX KX X XXX XXX XXXXXXXXME /2-6800403-00026XX
Function03 Answers for No.13962

Ansl .1 > black
.2 > green
.3 > gray
.4 > yellow
.5 > red
.6 > blue
ans |2 3. sy
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) | (-36,infinity) | (- 1nf1n1ty, ) (- 1nf1n1ty, )
.4 (0,0), (4,0) | (-4,0),(8,0) | (-5,0), ( 0) | (8,0) |
5 | (2,4) | (2,-36) | (-2,9) | (8,0) |
6 | Max1mum | Minimum | Max1mum | Max1mum |
7 ] max = 4 | min = -36 | max = 9 | max = 0 |
| ] :[ AreaS(x) =x }_
' AreaR=x (x+ 1)
.1 =[Income(x) = (4000 + 500 x) (120 — x)] 3=42
A =[P =(300-0.5
Ans6:[ [2_(?300(00 45000’]“))‘]}, Ans7 = 2= {11000, 53000} , AnsS = 4=13
B o .3 =1[32000, 2048000 ] 5 [AS: 25}
"~ L4AR =30
L O=[f(x)=x] i

)G BT ISHE RNV I 9:9:9.9:9.0.0.9.0.9.9.9.9.0.0:0:0:9:0:0:9:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.9.9.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXME /2-6800403-00027XX
Function03 Answers for No.14470

Ansl .1 > gray
.2 > green
.3 > black
.4 > red
.5 > yellow
.6 > blue
ans |2 134 s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-16,infinity) | (-infinity,25) | (0, 1nf1n1ty) | (- 1nf1n1ty, )
4 (=5,0),(3,0) | (=4,0), (6,0) | (=1,0) | (=7,0), (=3,0) |
5 | (-1,-16) | (1, 25) | (-1,0) | (=5,4) |
6 | Minimum | Maximum | Mlnlmum | Max1mum |
7| min = -16 | max = 25 | min = 0 | max = 4 |
I ] :{ AreaS(x) =x ]
" ldreaR=x(x+5)
.1 =[Income(x) = (6000 + 600 x) (70 —x)] .3=50
A =[P(x)=(200-0.7
Anséz[ [2_(?142(86 14286’]‘”]}, Ans7 = 2= {14400, 33600} , Ans8 = 4=9
o R 3 =[24000, 960000 ] 5 [AS = 36}
AR =66
L 6=[f(x)=5x] |

)G BT ISHE RNV E D 9:9:9.9.9.0.0.9.0.9.0.9.9.0.0:0:0:0:0:0:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.9.0.0.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKKXKKXKKXKKXXKXKKXKKX KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00028XX

Function03 Answers for No.l1l4561

Ansl

—infinity,infinity
(- 1nf1n1ty,
(-
(-
Max1mum
max = 0

)
)
0)
0)

-infinity,infinity

)

(- 1nf1n1ty, )
(4,0),(8,0)
(6,4)
Max1mum

max = 4

-infinity,infinity

)
(-49,infinity)
(_8/ O) ’ (6/ O)
(=1,-49)
Minimum

min = -49

X [Page

= [P(x) = (400 — 0.4 x) x]
[500.00, 100000 ]

.1 > blue

.2 > red

.3 > gray

.4 > black

.5 > yellow

.6 > green
| 2
| (-infinity,infinity)
| (=25,infinity)
| (-3,0), (7,0)
| (2, —25)
| Minimum
| min = -25

v

Ans6[ oo

= 0028]

}, Ans7 =

2= {7000, 21000 }
3 =[14000, 980000]

.1 =[Income(x) = (4000 + 200 x) (120 — x)]

, AnsS =

| ] :[ AreaS(x) =x
' A

reaR=x(x+4)
3=5
A4="T

5_[AS=16}
T lAR=32

6=[f(x)=4x]
}010:010:0:0:0:0:0:0.0:0.0.0:0.0:00.0.0.0.0000.00.00.0.0.000.00.00.000000.000000000000000000000000000000000000000000000000000000

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX X XXX XXX KX X XXX XXXXXXXXXXXME /2-6800403-00029XX
Function03 Answers for No.14657

Ansl .1 > blue
.2 > yellow
.3 > green
.4 > black
.5 > gray
.6 > red
ans | 2 34 s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-4, 1nf1n1ty) | (-infinity,36) | (=4,infinity) | (0, 1nf1n1ty) |
.4 (=7,0), (-3,0) | (-6,0),(6,0) | (3,0),(7,0) | (-2,0) |
5 | (- 5 -4) | (0,36) | (5, -4) | (-2,0) |
6 | Minimum | Maximum | Minimum | Mlnlmum |
7| min = -4 | max = 36 | min = -4 | min = 0 |
| ] :[ AreaS(x) =x }_
"~ lAreaR=x(x+5)
_ [P(x) = (400 — 0.4 x) ¥] .1 =[Income(x) = (6000 +300x) (110 —x)] 3=6
Ans6 = 2 = [500.00, 100000] , Ans7 = .2=14{9900, 29100 } , Ans8 = 4=11
< = VRS .3=[19500, 1267500] 5_[,43:49}
AR =84
L 6=[f(x)=5x]

)G BT ISHE RIS N I 9:9:9.9.9.0.0.9.0.9.9.9.9.0.0:0:0:0:0:0:0:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9:9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.9.0.9.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX X XXX XXX KX KX XXX XXX XXXXXXXXME /2-6800403-00030XX
Function03 Answers for No.1l4661

X

Ansl

blue
green
black
red

(-infinity,infinity

(- 1nf1n1ty,
(=7,0), (-
(-

Max1mum

max = 4

)
)
0)
4)

(-infinity,infinity

(- 1nf1n1ty,

(5
(5
Max1mum
max = 0

)
)
0)
0)

-infinity,infinity

)

(- 1nf1n1ty, )
(3,0),(9,0)
(6,9)
Max1mum

max = 9

-infinity,infinity

)
(-=9,infinity)
(0,0), (6,0)
(31_9)
Minimum

min = -9

[Page

Ans6 = [

= 0030]

1=[P(x)=(600-0.1x)x]

.2=[3000.00, 900000 ]

}, Ans7 =

2= {11000, 35000 }

.3=[23000, 1058000 ]

.1 =[Income(x) = (6000 + 500 x) (80 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+3)
3=108
4=5

_[AS=36}
“ AR =54

=[f(x)=3x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXX XXXXXXXXME /2-6800403-00031XX
Function03 Answers for No.l1l4674

Ansl .1 > red
.2 > gray
.3 > blue
.4 > green
.5 > black
.6 > yellow
ans |2 3. sy
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-4, 1nf1n1ty) | (0, 1nf1n1ty) | (-infinity,36) | (- 1nf1n1ty, )
.4 (=7,0), (-3,0) | (-1,0) | (=5,0),(7,0) | (3,0),(9,0) |
5 | (- 5 -4) | (-1,0) | (1,36) | (6,9) |
6 | Minimum | Mlnlmum | Maximum | Max1mum |
7 min = -4 | min = 0 | max = 36 | max = 9 |
| ] :[ AreaS(x) =x }_
' AreaR =x (x+9)
.1 =[Income(x) = (5000 + 500 x) (100 — x)] 3=70
.1 =[P(x)=(200- 0.4
Ans6:[ [2_(?250(00 25000’]“))‘]}, Ans7 = 2= {10500, 44500 } , AnsS = 4=13
B B .3=1[27500, 1512500 ] 5_[AS=9}
"~ LAR =136
L 6=[f(x)=9x]

)G BT ISHE RN VIUCH R I 9:9:9.0.9.0.0.9.0.9.9.9.9.0.0:0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0:0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0:0:9.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.9.0.0.90.0.0.0.0.9.9.0.9.0.0.04



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KXXX XXX XXX XXXXXXXXME /2-6800403-00032XX
Function03 Answers for No.14676

X

Ansl .1 > green
.2 > yellow
.3 > gray
.4 > black
.5 > red
.6 > blue
ans |2 134 sy
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-36,infinity) | (-1,infinity) | (0, 1nf1n1ty) |
-4 (=7,0), (=3,0) | (=4,0),(8,0) | (3,0),(5,0) | (9,0) |
-5 | (=5,4) | (2,-36) | (4, -1) | (9,0) |
.6 Max1mum | Minimum | Minimum | Minlmum |
LT max = 4 | min = -36 | min = -1 | min = 0 |
| ] :[ AreaS(x) =x }_
"~ lAreaR=x(x+9)
.1 =[Income(x) = (6000 + 600 x) (110 —x)] 3=220
1 =[P(x)=(200-0.7
Ans6:[ [2_(?142(86 14286’]6))‘]}, Ans7 = 2= {15600, 56400 } . AnsS = 4=10
B o .3 =1[36000, 2160000 ] 5_[AS:81 }
T 4R =162
L 6=[f(x)=9x]

[Page

= 0032]

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXXKXKKXKKX KKK KKK KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00033XX

X

Function03 Answers for No.14694

Ansl

yellow
black
gray
blue

(-infinity,infinity

(- 1nf1n1ty,
(=3,0), (3
(0

Max1mum

max = 9

)
)
0)
9)

(-infinity,infinity

(- 1nf1n1ty,
(8
(8

Max1mum

max = 0

)
)
0)
0)

-infinity,infinity

)
(=25,infinity)
0)
)

(-6,0), (4
(-1, —25
Minimum

min = -25

-infinity,infinity

)
(-16,infinity)
(_6/ O) ’ (2/ O)
(=2,-16)
Minimum

min = -16

[Page

Ans6 = [

= 0033]

.2=[1166.67,408333 ]

1=[P(x)=(700-0.3x)x]

}, Ans7 =

2= {13000, 33000 }

.3=[23000, 1058000 ]

.1 =[Income(x) = (6000 + 500 x) (80 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+2)
3=24
4=4

_[AS:25}
“LAR =35

=[f(x)=2x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXX KX X XXX XXXXXXXXXXXME /2-6800403-00034XX
Function03 Answers for No.14705

X

Ansl

blue
green
black
red

(-infinity,infinity

(- 1nf1n1ty,
(-2,0), (4
(1

Max1mum

max = 9

)
)
0)
9)

(-infinity,infinity

(- 1nf1n1ty,
(-9,0), (-
(-

Max1mum

max = 4

)
)
0)
4)

-infinity,infinity

)
(-16,infinity)
(_71 O) 7 (1/ O)
(-3,-106)
Minimum

min = -16

-infinity,infinity
(0, 1nf1n1ty
(7
(7
Minlmum
min = 0

)
)
0)
0)

[Page

Ans6 = [

= 0034]

1=[P(x)=(700—0.6x)x]

2=[583.33,204167]

}, Ans7 =

2= {12500, 33500 }

.3=[23000, 1058000 ]

.1 =[Income(x) = (6000 + 500 x) (80 — x)]

o

J

, Ans8 =

AreaS(x):x2
reaR=x(x+2)
3=35
4=9

_[AS=81}
“LAR =99

=[f(x)=2x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXKKXKKXKKX KKK XXX KKK KKK KKK KKK KKK KKXKKXKME /2-6800403-00035XX

X

Function03 Answers for No.14715

Ansl

black
green
blue
red

(-infinity,infinity

)

(- 1nf1n1ty,)
(-4,0)

(-4,0)
Max1mum
max = 0

(-infinity,infinity

)
(-infinity, 36)
(_8/ O) ’ (41 O)
(-2,36)
Maximum

max = 36

-infinity,infinity)
(=25,infinity)
(=7,0),(3,0)

)

(-2, —25
Minimum
min = -25

-infinity,infinity

)
(-1,infinity)
(7,0),(9,0)
(81_1)
Minimum

min = -1

[Page

Ans6 = [

= 0035]

1=[P(x)=(700—0.6x)x]

2=[583.33,204167]

}, Ans7 =

2= {9000, 21000}
3 =[15000, 750000]

.1 =[Income(x) = (3000 + 300 x) (90 — x)]

o

J

, Ans8 =

AreaS(x):x2

reaR=x(x+7)
3=18
4=13

_[AS:25}
“LAR =60

=[f(x)=7x]
):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢

}_




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKXXKXKKXKKXKKXXKXKKXKKX KKK KKK KKK KKK XXX KKK KKK KKXKKXKME /2-6800403-00036XX

X

Function03 Answers for No.14716

Ansl

green
red
blue
black
yellow

(-infinity,infinity

(-4, 1nf1n1ty
(=7,0), (-

(- 5 —4

Minimum

min = -4

)
)
0)
)

(-infinity,infinity

(- 1nf1n1ty,
(40)(
(-

Max1mum

max = 4

)
)
0)
4)

-infinity,infinity
(0, 1nf1n1ty
(-
(-
Mlnlmum
min = 0

)
)
0)
0)

-infinity,infinity

)
(-infinity, 36)
(_9/ O) ’ (3/ O)
(=3,36)
Maximum

max = 36

[Page

Ans6 = [

= 0036]

.2=1[200.00, 20000 ]

1=[P(x)=(200-0.5x)x]

}, Ans7 =

2= {17000, 30000 }

.3=[23500, 1104500 ]

.1 =[Income(x) = (7000 + 500 x) (80 — x)]

o

, Ans8 =
5

AreaS(x):x2
reaR=x(x+2)
3=15
4=8

_[AS: 100}
AR =120
= [f(x)=2x]
):0:9:0:9:0:9:0:9:9:9.:0:9:9:9:0:9.9:9.9:9.9:9.0:9.9:9:0:9.9:9.0:9.0:9:0:9.0:9:0:9.0:9:0:9.0:9:0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9:0:9.0:9.0:9.0:9.0:9.0:9.9:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:¢

}_
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Function03 Answers for No.14752

green

blue

red

black

Ansl

(-infinity,infinity

(

)
-16,infinity)
(_3/ O) 7 (5/ O)
(1,-16)
Minimum

min = -16

(-infinity,infinity

(- 1nf1n1ty,
(60)(
(-

Max1mum

max = 9

)
)
0)
9)

-infinity,infinity

)

(- 1nf1n1ty, )
(8,0)

(8,0)

Max1mum

max = 0

-infinity,infinity

(=4,infinity
(2,0), (6

(4, —4

Minimum

min = -4

)
)
0)
)

Ans6 = ['1

X [Page = 0037]

= [P(x)=(400 - 0.6 x) x]
2=[333.33, 66667]

}, Ans7 =

2= {12300, 29700 }

.3 =[21000, 1470000 ]

.1 =[Income(x) = (6000 + 300 x) (120 — x)]

| ] :[ AreaS(x) =x
' A

reaR=x(x+3)
.3=288

, Ans8 = A4=1
5:[145: 100}
) AR =130
L 6=[1f(x)=3x]

}_

):0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.9.0:9.9.0:9:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.9.0:9.9.0:9.9.0:9:9.0:0:9.0:0:9.0.0:9.0.0:9.0.0:9:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0.0:9.0.0:9.9.0:9:9.0:9:9.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX X XXXKXXX XXX XXXXXXXXXXXME /2-6800403-00038XX
Function03 Answers for No.14775

Ansl .1 > red
.2 > green
.3 > yellow
.4 > Dblue
.5 > black
.6 > gray
ans |2 3. sy
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,16) | (- 1nf1n1ty, ) | (- 1nf1n1ty, ) (-36,infinity) |
.4 (=7,0),(1,0) | (-9,0), (=3,0) | (-8,0) | (-4,0),(8,0) |
5 | (-3,16) | (-6,9) | (-8,0) | (2,-36) |
6 | Maximum | Max1mum | Max1mum | Minimum |
7 ] max = 16 | max = 9 | max = 0 | min = -36 |
| /= [ AreaS(x) = X }_
' AreaR=x (x+11)
.1 =[Income(x) = (3000 + 500 x) (80 — x) ] 3=152
A =[P =(100-04
Ans6:[ [2(_x[)12§ 00 6250]’“))‘]}, Ans7 = .2 = {13000, 30000 } , AnsS = 4=4
o o .3 =[21500, 924500 ] 5_[AS=36}
AR =102
L 6=[f(x)=11x]

)G BT ISHERNIUICE S I 9:9:9.0.9.0:0.9.0.9.9.9.9.0.0:0:0:0:0:9:9:9:9.9.9.9.9.9.9.9.0.0.0.0.0.0:0.0.0.0.0.0.0.9.9.9.0.0.0.9.9.9.9.9.0.0.0.0.0.0:0.0:0.9:9.9.9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.0.0.90.0.0.0.0.9.9.0.9.0.0.04
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